

دور ١٠٠

٢٣

٢٠

$$z(\theta) = f(\tan \theta + \sqrt{r} \cos \theta) \quad z'(\frac{\pi}{4}) = \sqrt{r} \rightarrow z'(\theta) = r((1 + \tan \theta) \tan \theta - \sqrt{r} \sin \theta) \quad f'(\tan \theta + \sqrt{r} \cos \theta) = \dots \quad (1)$$

$$\Rightarrow z'(\frac{\pi}{4}) = (r(r)(1) - \frac{\sqrt{r} \times \sqrt{r}}{r}) f'(1 + \frac{\sqrt{r} + \sqrt{r}}{r}) \Rightarrow \sqrt{r} = r f'(r) \Rightarrow f'(r) = \frac{\sqrt{r}}{r} \quad (2)$$

$$f(\theta) = \frac{1 + \cos^2 \theta}{r - \cos^2 \theta} \quad z(\theta) = \frac{r}{r - \cos^2 \theta} \quad z'(\theta) = \frac{-r \sin \theta}{(r - \cos^2 \theta)^2} \Rightarrow z'(\frac{\pi}{4}) = \frac{r}{19 + 18\sqrt{r}} \quad (3)$$

$$f'(\theta) = \frac{(-r \sin \theta \cos^2 \theta)(r - \cos^2 \theta) - (r \sin \theta \cos \theta)(1 + \cos^2 \theta)}{(r - \cos^2 \theta)^2} \Rightarrow f'(\frac{\sqrt{\pi}}{4}) = \frac{(\frac{9}{18} \times \frac{18}{r}) - (r\sqrt{r} - \frac{9}{14})}{\frac{149}{14}} \quad (4)$$

$$f'(\frac{\sqrt{\pi}}{4}) - r z'(\frac{\sqrt{\pi}}{4}) = \frac{18\sqrt{r} - 18\sqrt{r}}{18\sqrt{r}} - \frac{1}{19 + 18\sqrt{r}} = \frac{-149}{18\sqrt{r}} = -\frac{1}{r} \quad (5)$$

$$f(\theta) = (r\theta - r) \sqrt{a\theta} \Rightarrow \lim_{\theta \rightarrow (\frac{r}{r})^+} \frac{(r\theta - r) \sqrt{a\theta} - 0}{\theta - \frac{r}{r}} = r \sqrt{a\theta} = r \sqrt{\frac{r}{r}} = r \sqrt{r} \quad (6)$$

$$\lim_{\theta \rightarrow (\frac{r}{r})^-} \frac{-(r\theta - r) \sqrt{a\theta} - 0}{\theta - \frac{r}{r}} = -r \sqrt{a\theta} = -r \sqrt{\frac{r}{r}} = -r \sqrt{r} \quad (7)$$

$$r \sqrt{r} - (-r \sqrt{r}) = r \sqrt{r} \Rightarrow \sqrt{r} = \frac{r}{r} \Rightarrow r = \frac{r}{r} \Rightarrow a = \frac{1}{r} \quad (8)$$

$$f(r) + f'(r) = -1 \quad f'(r) = -a \quad f(r) = r - ra \quad f(r) + f'(r) = -1 \Rightarrow r - ra - a = -1 \Rightarrow a = \frac{r}{r} \Rightarrow \dots \quad (9)$$

$$y = \frac{ax-1}{r(x+1)} \quad y - x = a \Rightarrow y = \frac{x+a}{r} \quad \frac{x+a}{r} = \frac{ax-1}{r(x+1)} \Rightarrow r(x+a) = ax-1 \Rightarrow \dots \quad (10)$$

$$\Rightarrow r(x+a) = ax-1 \Rightarrow 14 - Va = 12 \Rightarrow Va = r \Rightarrow a = \frac{r}{r} \quad (11)$$

$$f(x) = x^r + ax - b \quad f(r) = 0 \Rightarrow 1 + ra - b = 0 \Rightarrow b = -14 \quad f'(r) = 0 \Rightarrow 1 + a = 0 \Rightarrow a = -12 \quad (12)$$

$$f(x) = \sin^n(x^r) \quad \lim_{x \rightarrow 0} \frac{f(x) f'(x)}{(1 - \cos x)^m} = r \sqrt{r} \quad f'(x) = n \sin^{n-1}(x^r) \times \cos(x^r) \times r x \quad (13)$$

$$\lim_{x \rightarrow 0} \frac{f(x) f'(x)}{(1 - \cos x)^m} = \frac{r n x \cos(x^r) \sin^{n-1}(x^r)}{(1 - \cos x)^m} = \frac{(r n x)(1)(x^r)^{n-1}}{\frac{x^{rm}}{r^m}} = \frac{(r n r^m)(x)(x^{rn-r})}{x^{rm}} = \frac{n \times r^{m+1} \times x^{rn-r}}{x^{rm}} = r \quad (14)$$

$$r^{m+1} \times n = r \Rightarrow n = r \quad m = r \quad r m + n = r + r = 2 \quad (15)$$

$$\sqrt{x} y - y = \sqrt{x} + 1 \Rightarrow \sqrt{x} (y-1) = y+1 \Rightarrow \sqrt{x} = \frac{y+1}{y-1} \Rightarrow f^{-1}(x) = \left(\frac{x+1}{x-1}\right)^r \quad (f^{-1})'(x) = r \left(\frac{x+1}{x-1}\right)^{r-1} \left(\frac{(x-1) - (x+1)}{(x-1)^2}\right) = \dots \quad (16)$$

$$f(x) = (x^r + 1)^r (ax + 1) \quad \frac{f(0) - f(-1)}{0 - (-1)} = \frac{1 - (1 + 1 - a)}{1} = 1a - 1 = -1 \Rightarrow a = -\frac{1}{r} \quad (17)$$

$$f'(x) = r(r x) (x^r + 1)^{r-1} \left(-\frac{x}{r} + 1\right) + \left(-\frac{1}{r}\right) (x^r + 1)^r \quad f'(1) = (r)(r) (r) \left(\frac{1}{r}\right) - r = 1r - r = 0 \quad (18)$$

$$y = \sin^r x \cos^r x \xrightarrow{\text{L'Hopital}} \frac{f(\frac{\pi}{4}) - f(\frac{\pi}{4})}{\frac{\pi}{4} - \frac{\pi}{4}} = \frac{-1 - 0}{\frac{\pi}{4}} = -\frac{4}{\pi} \quad y = \sin^r x - \cos^r x \xrightarrow{\text{L'Hopital}} \frac{f(\frac{\pi}{4}) - f(\frac{\pi}{4})}{\frac{\pi}{4} - \frac{\pi}{4}} = \dots \quad (19)$$

$$= \frac{1-0}{\frac{\pi}{4}} = \frac{4}{\pi} \quad \frac{y}{x} = \frac{-\frac{4}{\pi}}{\frac{4}{\pi}} = -1 \quad (20)$$